LINEAR DEE CLIMBING FRAME ROUND WA EINLE
Installation Instructions P(G.Y

ba ot 10 REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND



PARTS required

/7 N\
/’ AU
\\ \(\ / )
N
N
"i
%
%
- X2 (TYRE +ROPE+ CHAIN)

x4 (M12 x 140 Square Cup HEX bolt)

=
~—
=
=

x19 (M12 x 300 Square Cup HEX bolt)

=
=
=
=

=

@ X8 (s piastic cover)

e
" X36 (120 Distance piece)

120 label is shown on the inside

&,
X37 miz wvioc)

—) ) () { —
4 % ? % ? X1 weny
\ J |
X 4 (FM80 ‘Brass screws’) XZ (Swing Hanger)

@ X 3 7 (end caps R60) @ X 4 (small caps blue)

o\
|

(@(B
X2 (0-stackte)

X2 (0.88m STANDARD BAR)

pg 2 of 10

REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND

creative

play



TIMBERS required

CODE TYPE S’ZE

CF104Ra
CF104Rb
CF101Rb
CF101Rc
CF101Rd
CF101Re
CF101Rf
CF101Rg

CF101Rh

TOOLS required

@ 125mm
@ 125mm
@ 125mm
@ 125mm
@ 125mm
@ 125mm
@ 125mm
@ 125mm

g 125mm

3000

3000

3000

3000

3000

3000

2460

2460

2460

pg 3 of 10

REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND

creative

play



Foundation Details

2615 2310
i T |
|
E—
lg]
(@))
(@))
Y
A
10
Q TYRE CONCRETE
| | B
& 304.7
(@)) B
Y
A

1315
a

> TYRE CONCRETE

Y
2310
- >
o
finished ground level O v
l )
° Soil
8 o Timber support post
©
o~ Concrete

reativ
pg40f 10 REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND °5(aa ye



Surfacing Details

______ = MINIMUM SPACE
= SURFACE AREA

8202

A

7910
oo )
& S =]

pg5of10 REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND

creative

play




Installation Instructions

Install the UPRIGHTS CF101Rb/c/d and CF104Ra/b

Follow Foundation details

CF104Ra | CFi01Re CF104Rb

Attach the Timber CF101Rh to the Timbers CF101Rb/c/d/e
and F104Ra

Using 12x 120 Distance piece/ 6x @300mm M12 SQUARE CUP HEX BOLTS / 6x NYLOCS / 6x END CAPS R60

G ...

reativ
pg 6of 10 REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND ¢ 5‘3 a _)’e



Installation Instructions

Attach the Timber 3x cr1o1rg 1o the Timbers cr101Rb and cF104Rb

Using 16x 120 Distance piece/ 8x @300mm M12 SQUARE CUP HEX BOLTS / 8x NYLOCS / 8x END CAPS R60

‘ \ of]

o

4 Attach the Timber CF101Rf to the Timbers CF101Rd/e

Using 8x 120 Distance piece/ 4x @300mm M12 SQUARE CUP HEX BOLTS / 4x NYLOCS / 4x END CAPS R60

pg 7 of 10

REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND crestive

play



Installation Instructions

Attach NET to the Timbers CF101Rd/e/f

Using 14x NYLOCS / 14x END CAPS R60

Attach STANDARD BAR to the Timbers CF101Rb/c/d

Using 8x FM80 Brass ‘Screws’ / 4x SMALL END CAPS

ENSURE:

Bars are positioned on the snabed parts

reativ
pg 8of 10 REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND ¢ 5(3 a ye



Installation Instructions

Attach SWINGHANGER to the Timbers CF101Rh

Using 4x @140mm M12 SQUARE CUP HEX BOLTS / 4x NYLOCS / 4x END CAPS R60 / 2x Swing Hangers

7

Attach the TYRE ASSEMBLY to the SWINGANGERS

Using 2x D-Shackle/ 8x M8 Plastic Covers

reativ
pg 90f 10 REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND ¢ 5(3 a ye



Additional Dimensions

5215

2250

=
[ ]
B

T

reativ
pg 10 of 10 REF: CF104-R - LINEAR DEE CLIMBING FRAME ROUND ¢ 5(3 a ye



